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A RA Y- SA(EH) - ARAY - BES 0l &t Giios HimE=+1
JHEE= 72,623,565 58,267,856 14,355,709
= 16,715,593
s 12,366,193
Il 428,825
=2 374,000
S 6,445,331
Al 36,293,623
PNRSEEE DA Il 12,473,099 6,321,690 6,151,409
= 4,946,000
s 1,500,000
=2 200,000
< 575,906
Al 5,251,193
NGB HEE (L - SAD|Y/AH - SAI | UBH 2,742,489 3,820,685 A 1,078,196
s 1,500,000
< 388,117
Al 854,372
dHaeldl F=8 103,420 83,000 20,420
ZEZM&eDl =& 30,000 0 30,000
307 glztold 30,000 0 30,000
02 QB AE L 30,000 0 30,000
OZuacllgels 2822
30,000,000 » 14! 30,000
Sotetd =& 23,060 29,600 A6,540
201 YErH2EH| 7,560 14,100 26,540
01 AtSZ2lt| 7,560 14,100 26,540
ORddAs EA® M 7,000& * 300042 2,100
OEE2MEX % 50& * 10,00001 » 43 2,000
OsE8+% M 100,000& * 150H 1,500
OAHIXHE M Ao 2~ 3
70,0008 * 149 » 23| 1,960
301 LEE A= 15,500 15,500 0
10 A HIZ2 &S 500 500 0
Otz mel &t sS4
5,000& = 50% * 23 500
12 JIEtE &S 15,000 15,000 0
OLHINSIIELIHA &S|
5,000,000& » 14 5,000
OSIZ2He A QMEIE XI&
10,000,000 * 14! 10,000
AHIXNDEHEH AE2S 30,000 30,000 0
307 glztold 30,000 30,000 0
05 QIZtRE= 30,000 30,000 0




= JHEE= A ¢ ANSZ M
& TNGBHTE(AMY - A/ - SAI| B
&2l FR&eD =& (&2 & &)
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
OAHITtDEEE S22
30,000,000 = 14! 30,000
ZHaedl =& 2S 3] 20,360 21,500 1,140
202 O4Hl 9,360 10,500 21,140
01 2B 9,360 10,500 A1,140
OZHMrs2d RFL 6,360,000& * 14 6,360
o2t AHINES HRFX
3,000,000& * 14! 3,000
203 HR=&H| 11,000 11,000 0
03 AIRZ=AHRFAH| 11,000 11,000 0
OZHEEAH F&(2F) 9,500,0008 * 14 9,500
OZHZelA AR F& 1,500,000& * 14 1,500
ANEEs S0S HEXA 37,200 75,600 A38,400
L= 8,400
Al 28,800
S03 &MU 23 9,200 10,600 21,400
201 LEr23H| 8,000 8,500 A500
03 A2 8,000 8,500 2500
OHYAMNEEE A== HH 200,000& * 50K 1,000
OXZB &IMRE =Y 100,000& * 10 1,000
OXAN2 S=HE 10,000& * 5005 5,000
OMAL SHALEH| 1,000,000& * 14 1,000
301 LEtE A= 1,200 2,100 A900
10 A2 HIZ2 &S 1,200 2,100 2900
OZUSZ&Ua &I W24
60,000& * 109 » 23l 1,200
SSEIUNE 433 g 28,000 15,000 13,000
= 8,400
Al 19,600
307 gI2told 28,000 15,000 13,000
= 8,400
Al 19,600
02 QIHAAMEX 28,000 15,000 13,000
O30 &3sHe X
28,000,000 = 14l 28,000
L= 8,400
Al 19,600
THeh Al L B2 25t 2,601,869 3,662,085 21,080,216
s 1,500,000
< 379,717
Al 722,152
MeHAlE st X2 78,900 172,000 /93,100
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201 LBty 25,500 20,000 5,500
01 AtR2t2Ibl 5,500 0 5,500
O82HHA M= 50& = 10,00008 = 55 2,500
OsEss+Y HMH 100,000& * 100K 1,000
OMHAE S22 HAIL M
500,000& * 4742 2,000
03 Ar=2dH| 20,000 20,000 0
OMcHAIE HESFO &Al 20,000,000 * 14 20,000
301 Let2a=s 3,400 2,000 1,400
10 AIMHI2 A= 3,400 2,000 1,400
OMeHAIY 2teal IR 0
100,000& » 108 * 22 2,000
OMHAIY SHSIBHAFIIA S4
7,000& = 1008 = 23 1,400
307 212+01™ 50,000 100,000 A50,000
02 2AHALE L 30,000 0 30,000
OMcHAIY BSHUSXIHA
10,000,000 * 3IHAIE 30,000
08 OIAtEAd=S 20,000 100,000 280,000
OMcHAI & deti=s Ol EN
20,000,000 * 14 20,000
THeHAIE Al S THat 2,483,334 2,950,000 A\466,666
[ 1,500,000
= 375,000
Al 608,334
401 Al EHIL LY 2,333,334 0 2,333,334
= 1,400,000
= 350,000
Al 583,334
01 Al&H] 2,298,134 0 2,298,134
OF=2MESSAIE JI8tEHl 818,834,000 * 14| 818,834
= 491,300
= 122,830
Al 204,704
OdZAIE ololE &xX
1,479,300,0002 14 1,479,300
fas 887,580
S 221,8%
Al 369,825
02 Zeldl 24,550 0 24,550
O==2& SEAIE J1Erddl 9,250,000& 14 9,250
[ 5,550
= 1,380
Al 2,320
OdEAIZ oI0IE &X 15,300,000 14 15,300
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Fal 9,180
< 2,295
Al 3,825
03 AI&S0HHI 10,650 0 10,650
O==2a& SEAIE JIetEdl 5,250,000& 14! 5,250
s 3,150
= 790
Al 1,310
O8ZAIZ OIS &X 5,400,000& * 14! 5,400
s 3,240
< 810
Al 1,350
402 SI2HAHEO0IA 150,000 2,950,000 /2,800,000
s 100,000
= 25,000
Al 25,000
01 QIZIEE X 150,000 0 150,000
OSSAME Xotdd™ 2= 150,000,000 * 14! 150,000
s 100,000
< 25,000
Al 25,000
MHeHAIE etE2te| X2 5,835 5,835 0
< 2,917
Al 2,918
307 21201 5,835 5,835 0
L= 2,917
Al 2,918
02 QA AE X 5,835 5,835 0
OMdAIE tHEEE XI&
5,835,000& * 14 5,835
< 2,917
Al 2,918
= 52 gdst 23 20,000 12,450 7,550
201 223 18,000 1,300 16,700
02 3324l 1,000 0 1,000
O =7 52 HIIMES 500,000& * 14l 500
O 2H 52E &+E AFEZ  500,0008 * 14 500
03 A2 17,000 1,300 15,700
O=H 58 & A 17,000,000& * 14 17,000
301 LEIE NS 2,000 0 2,000
10 AAHIE A S 2,000 0 2,000
O= 5% NHESALA ’é'tll_t.’_’cxF
2,000,000& 14 2,000
SEdANE S4XH 3,600 1,800 1,800
< 1,800
Al 1,800




= JHEE= A ¢ ANSZ M
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307 2I2+0I M 3,600 1,800 1,800
< 1,800
Al 1,800
02 QA AE X 3,600 1,800 1,800
OMCHAIZ Ol ESHAL XI&
3,600,000& * 14 3,600
< 1,800
Al 1,800
MeHAIE At 23| 3,000 2,000 1,000
202 o4l 3,000 2,000 1,000
01 =UWxHI 3,000 2,000 1,000
ONMEEHs HRFH 3,000,000& * 14 3,000
SIHQIZEE AOIXE SHAY(2INEXIY) 7,200 0 7,200
307 21201 7,200 0 7,200
02 QB AE L 7,200 0 7,200
OgAezang oAyl X
3,600,000& * 2¥ 7,200
A - SSHA 22 (FEL XS NL/AHEX]) 7,763,000 1,238,000 6,525,000
= 4,421,000
Al 3,342,000
MHSRAE &F - 22 7,763,000 1,238,000 6,525,000
= 4,421,000
Al 3,342,000
FEUSSHA HE=S2LH2E XA 7,743,000 1,218,000 6,525,000
= 4,421,000
Al 3,322,000
401 A&HIZL S| 7,743,000 1,218,000 6,525,000
= 4,421,000
Al 3,322,000
01 Al&HI 7,066,420 898,000 6,168,420
OF=ds3HA He-S2H2E &X
7,066,420,000& * 14! 7,066,420
= 4,080,680
Al 2,985,740
02 Zeldl 656,580 300,000 356,580
OFE2dssHA H-SLHAUE &X
656,580,000 14! 656,580
= 330,260
Al 326,320
03 Al&SOHHI 20,000 20,000 0
OF=ds3HA He-S2H2E &X
20,000,000 * 14! 20,000
= 10,060
Al 9,940
LESHAHER AIEE> 20,000 20,000 0
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401 Al&HIZL R0 20,000 20,000 0
01 Al&HI 20,000 20,000 0
OZESAMHEI] ANEEx
20,000,000& * 14 20,000
O >ZotE (4he - SAIL/HUXIL K20 ) 1,241,247 82,678 1,158,569
= 525,000
L= 100,976
Al 615,271
X E= 1,241,247 82,678 1,158,569
= 525,000
< 100,976
Al 615,271
MASE LPILAAIAE i 15,000 17,448 A2,448
L= 4,500
Al 10,500
401 Al&HIZ =20 15,000 17,448 A2,448
L= 4,500
Al 10,500
01 Al&dI 15,000 17,448 A2,448
OMASE LPIIA AlEHE X2
15,000,000& 14 15,000
< 4,500
Al 10,500
SMARI=E S MIAE HES 10,000 10,000 0
< 3,000
Al 7,000
201 223 10,000 10,000 0
L= 3,000
Al 7,000
01 AtS2elH| 10,000 10,000 0
OZMARI=E SEIIAME HES
10,000,000& * 14 10,000
< 3,000
Al 7,000
HUHXESR 2HO X S=2cl 25,295 24,580 715
201 Zet23d] 20,39 19,680 715
01 AtR2elt| 13,100 11,800 1,300
OJtAtMEII] 2 5,500& * 1,000AICH 5,500
ouXIzs 22 M 500& * 10,0004 5,000
OUUXIZAnE ZAI= 300,000& * 23 600
Ol XIZEe HAE2EE(2I0IR)
2,000,000& * 14 2,000
02 B2l 5,295 6,380 A1,085
Ot SHEEH =22 17,6503 * 300Al CH 5,295
03 A2 2,000 1,500 500




2 AMEE= S NSFMD
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CH2l: OIUX 22 (el &)
= = — N L=
AT RA - FHSA(EH) - ARAY - BES 0l &t e HIRS2
OJtAotd A3l 2,000,000& 13/ 2,000
206 M= 4l 500 500 0
01 =4I 500 500 0
OFAMAR ANEMHFH K37
5,000& * 1002l 500
301 LEtEAz 4,400 4,400 0
10 AR HIZ A= 4,400 4,400 0
OJAOtE BE22X 24
5,000& * 6 » 202  43] 2,400
OJtACHM ZO|THE &K =4
5,000& » 200F * 24! 2,000
EHYZ =8 Bg A 105,000 28,650 76,350
402 QI2HAHEO0IH 105,000 28,650 76,350
02 SIZHIHEAIZ I 105,000 28,650 76,350
OB =8 10002 E5AtS
2,100,000&  50AICH 105,000
OIUX ESAte 2g9& 8| 3,000 2,000 1,000
202 0ddl 3,000 2,000 1,000
01 2LH LI 3,000 2,000 1,000
Ol XESAE & & 3,000,000 * 14 3,000
UK R I AL AIS (SIEEHXIA) 20,000 0 20,000
403 RMXISHHSA20IH 20,000 0 20,000
02 SI|12SOlCHSCHEE AL I 20,000 0 20,000
OO0 XIXtes ALK (IE=1SH)
20,000,000& = 14! 20,000
ATHAEMU X XY ES AL 876,000 0 876,000
525,000
351,000
401 A&HIZ =20 876,000 0 876,000
525,000
351,000
01 Al&dl 871,367 0 871,367
OsME+E Axd 408,041,000 14 408,041
244,824
163,217
OZEANZAL EHLZ 463,326,000 14 463,326
277,99
185,330
03 AlIE=0HbI 4,633 0 4,633
OENE==E 2™ 2,959,000& *14! 2,959
1,176
Al 1,783
OLEABA LA 1,674,000 14 1,674

_7_



M= FHUER SA RIS D
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= 1,004
Al 670
EHYE =8 EZAS 186,952 0 186,952
= 93,476
Al 93,476
402 QI2EXHE0IH 186,952 0 186,952
= 93,476
Al 93,476
02 SIZHIHEAIH I 186,952 0 186,952
OHAI=E 25 186,952,000& * 14 186,952
= 93,476
Al 93,476
DEANSXNEEY DEE(MISEX/=3) 693,063 1,148,108 A455,045
= 200,000
L= 86,813
Al 406,250
CAZHEE 48,700 49,400 A700
L= 24,000
Al 24,700
SAE 8o3 29 700 1,400 A700
201 2Bt 700 1,400 AT700
01 AtSZ2lH| 700 1,400 A700
OLAFEolsl 2Y4+g
70,000& * 5% * 23 700
S AR SOt IS HE 8,000 8,000 0
= 4,000
Al 4,000
307 21201 8,000 8,000 0
< 4,000
Al 4,000
02 BI2tHAE X 8,000 8,000 0
O AE stitsH=Uzl X
8,000,000& * 14 8,000
= 4,000
Al 4,000
CSYHENEA 2 40,000 40,000 0
< 20,000
Al 20,000
307 21201 40,000 40,000 0
= 20,000
Al 20,000
02 BI2tAHAE X 40,000 40,000 0
OLSYHENYARIXIA 40,000,0008 * 14! 40,000
= 20,000
Al 20,000




CBHEE= A XNSE N

222NEXENY DEEX(MIEX/ES)
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224 Sy (el &)
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CRA - EHB R (BH) - HRAY - B 0l &t e HIRS2
ESONEEINE=1 95,550 61,775 33,775
22X SXsl 22| 52,100 31,100 21,000
201 2pt23H| 2,100 1,100 1,000
02 =S| 2,100 1,100 1,000
o2z X=Xz2 SFie RE3
250,0008 * 23] 500
OZ2ZA=XgS nsRLRES
600,000& * 13 600
OZRNSNEIB ALHY 42
1,000,000& * 13 1,000
401 AlZHI 2 0HYI 50,000 30,000 20,000
01 Al&tl 50,000 30,000 20,000
O22H=X2 AL B
50,000,000 = 14! 50,000
D22 A2t HALK A 40,450 28,675 11,775
201 2pt23H| 450 675 A225
01 AtS2teltl 450 675 A225
OZ22Xe & E&E oI 10,000& 450K 450
301 L2 Az 17,000 7,000 10,000
10 AR HIZ A= 17,000 7,000 10,000
O22XusE U224
100,0002 * 20 * 23| 4,000
OZ2Z Aol H4=0 HE =LHOHIE2 4!
100,000& * 15% * 23| 3,000
OREYUD2N 2R E 218t
10,000,000& » 14 10,000
307 21201 23,000 21,000 2,000
04 CIZHHALS X 23,000 21,000 2,000
O22X2 & #AK# 6,000,000& * 13 6,000
O Atster Z2oial K&
5,000,000& * 204 ==X 10,000
O XA &AIDIE XH=UE
7,000,000 13/ 7,000
2= X g 2EE| 3,000 2,000 1,000
202 G4d| 3,000 2,000 1,000
01 2L 3,000 2,000 1,000
O A2t A2 oddl 3,000,0008 * 14! 3,000
Z2Fd 548,813 1,036,933 A488,120
&2 200,000
= 62,813
Al 286,000
SES2Z2ALS 422,813 460,000 A37,187




nE=Sors) e d R
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= 200,000
& 22,813
Al 200,000
101 2124y 422,813 460,000 A37,187
= 200,000
= 22,813
Al 200,000
10 JIZFH2=2 4 422,813 460,000 A37,187
SS2ZA 422,813,000 = 14 422,813
= 200,000
S 22,813
Al 200,000
defag 2l 106,000 165,333 /59,333
= 40,000
Al 66,000
307 glztold 106,000 165,333 /59,333
= 40,000
Al 66,000
02 QIAHALEEX 106,000 165,333 A\59,333
HerpeiEeole KA
106,000,000 = 14] 106,000
& 40,000
Al 66,000
Jgel NsX 20,000 28,000 28,000
307 212told 20,000 26,000 26,000
05 2I2t?IE= 20,000 26,000 26,000
XEE RS 20,000,000 * 14 20,000
Y2 BHI(NSB ML) (OIEH/IIEL) 33,300 32,219 1,081
eI 24| 7,500 7,200 300
elsE2a 7,500 7,200 300
203 gR=4| 7,500 7,200 300
01 J228g =] 3,300 3,000 300
OJ2A2g g2FXN 3,300,000 = 14] 3,300
04 FAEIYER=AHI 4,200 4,200 0
ORANE2g RF&d| 350,000& * 123 4,200
=24l 25,800 25,019 781
Jl=28hl 25,800 25,019 781
201 et 12,100 14,219 A2,119
01 At 2t2|bl 12,100 14,219 A2,119
OARRI1II & 6,250,000 * 14 6,250
OAr2 A 1,650,000& = 14 1,650
o=
02 » 58 = 10 ~ 128 4,200
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A XIS E N

CRA B O9(3H) - NRAY - Ba = e
202 O4d| 7,700 10,800
01 =LHO4 I 7,700 10,800
OJl2gd®+=8 ol * 14l 7,700
405 KHobESHI 6,000 0
01 XYL 2EFHSH 6,000 0
O&X =SAD 2 * 104 4,000
OASa HED 2 * 104 1,000
O2MAMEDI] & * 104 1,000
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AR AWRER S HRANASHDY
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deEfad=s4n 12,565,578 6,812,448 5,753,130
=2 240,000
s 2,820,000
< 819,500
Al 8,686,078
S, HHIIY SERNJ (&L - SAIY/MASEXH) 2,199,000 1,000,000 1,199,000
sSAJY sdlts N 2,199,000 1,000,000 1,199,000
SAIY X2 0IMEA 1,700,000 1,000,000 700,000
307 212+01 M 1,700,000 1,000,000 700,000
08 OIXtE2XM= 1,700,000 1,000,000 700,000
OosaJlY sdi= 0IMEN
1,700,000,000& * 14 1,700,000
SAIY |4II18 &9 499,000 0 499,000
306 £2= 499,000 0 499,000
01 =¢3 499,000 0 499,000
OLEE SNV LIIz &
499,000,000& * 14 499,000
NG DX (A - A0/ M I=XH) 50,000 170,000 A 120,000
KL QIM=4 50,000 170,000 A 120,000
SENSSHMAHXIAAG (SRS XH) 20,000 20,000 0
403 XHXIHMSA=01H 20,000 20,000 0
02 B 2SHCHECHE ALY 20,000 20,000 0
OBt WSS AHE XA
20,000,000 = 14! 20,000
ZRAEH MATH XLAMSL (AT XIH) 30,000 30,000 0
403 XXIHHMSX=01E 30,000 30,000 0
02 BIIBSOICHEHCHE AL 30,000 30,000 0
Oz AL NSNS S
30,000,000 * 14! 30,000
HHAMY =4 DESH(AY - BAING/MEEE - DS 9,598,340 2,657,940 6,940,400
&)
s 2,820,000
= 780,000
Al 5,998,340
NSSHMARHE HE 2,350,000 0 2,350,000
ZER0 SAXIAHEH HE 2,350,000 0 2,350,000
306 == 2,350,000 0 2,350,000
01 E¢3 2,350,000 0 2,350,000
O LSROXIH S AMEIIE (2IHE T )
2,350,000,000& »14 2,350,000
FE) =4 (IT) 24 725,000 605,000 120,000
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NEANY - BE=

Ofl &k 24

k=4 pal

pym
JgH

370,000
355,000

675,000

370,000
305,000

555,000

120,000

307 glztold

675,000

370,000
305,000

555,000

120,000

02 2ItA&Ex
A4S

MY FHT)

555,000,000& * 14l

Al ST

120,000,0002 * 14}

675,000

555,000

370,000
185,000

120,000

555,000

120,000

A

o

NEJEAHEJN%@?@HUW@%%G&

50,000

50,000

403 XXM S K=

o

50,000

50,000

02 SJ1&S0tgt
OJlse7#4H

CHEH ALY
50,000,000& * 14!

o
=29

50,000
50,000

50,000

OHAHIOIR - AIATH A

()

0x

=
=

n

Al

6,463,340
2,450,000

780,000
3,233,340

1,992,940

4,470,400

OielH0l2 SIE82=AMY

2,650,000
1,250,000

360,000
1,040,000

2,650,000

2,650,000
1,250,000

360,000
1,040,000

2,650,000

SIEXE  2,650,000,000 * 14

2,650,000
2,650,000

1,250,000
360,000
1,040,000

2,650,000

Ml

cAH JIEHEHIALY

3,100,000
1,200,000

420,000
1,480,000

3,100,000

3,100,000
1,200,000

420,000
1,480,000

3,100,000

3,100,000

3,100,000
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2 ANEER SN HBAARHDY
S HEMYE S - DESHAY - SAIY/MHTE - DEFH)
CHElt BILHIOIR - AATHAIY SA (St
= — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
ONMicte £5 A=Al DB RSALY
3,100,000,000& * 14 3,100,000
s 1,200,000
= 420,000
Al 1,480,000
LI 2NLHRHEH 2 (SIHREXY) 70,000 70,000 0
403 XXIHMSA=01E 70,000 70,000 0
02 B 2SHCHECHE ALY 70,000 70,000 0
O ol 2dE2t HEHANH 2
70,000,000& = 14! 70,000
LEN HESHESAML (ZNEEXR) 200,000 200,000 0
403 XXIHHMESKH=01H 200,000 200,000 0
02 2| 2SOl CHEHCHEH AN 200,000 200,000 0
O2LF0N FE E-WES} ALY
200,000,000& * 14 200,000
oHHI0I2 RIC SDtESAL (SR XL) 50,000 50,000 0
403 XXM ENH=01H 50,000 50,000 0
02 BI2SHCHSCHE ALY 50,000 50,000 0
O LU0 RICHMEE ALY
50,000,000& * 14 50,000
orolMlete) XIS AME (RIC) ANtEES ALY 50,000 50,000 0
403 AtXISHHMSX=01& 50,000 50,000 0
02 BII2SHCHSCHE ALY 50,000 50,000 0
OmtelAlete! XIS AMME(RIC) SRS ALY
50,000,000 = 14! 50,000
oHHt0IR - &AM SHEAIY 23| 12,220 10,700 1,520
202 O4Hl 10,720 9,200 1,520
01 =UWObI 10,720 9,200 1,520
Oofl 20l AAT SHAY ¢l
10,720,000 » 14 10,720
203 HR=&H| 1,500 1,500 0
03 AIZEZYREY] 1,500 1,500 0
Ol 202 MAMMSHE AMEX
1,500,000& * 14 1,500
FRIHII =03 "X A SANE Mg 150,000 0 150,000
306 £z 150,000 0 150,000
01 5¢= 150,000 0 150,000
OZEHImI XNEMSEFE HEAY
150,000,000& * 14l 150,000
SHHIOIR AIATH JISOHEAN (SR E X)) 150,000 150,000 0
403 AtXISHHMSX=01H 150,000 150,000 0
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: HEH

o
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- _ — PolE |
SN BB ER(E) - MREAY - B 0l &t St HIRE2
02 BII2SHICHSCHEAFIYI 150,000 150,000 0
O LHI0I AATH JI=HE AL
150,000,000& * 14l 150,000
St s 11,120 12,240 A1,120
201 e 11,120 12,240 A1,120
01 AtS2elH| 11,120 12,240 A1,120
O2d+g 1,120
oXANYUTLARS| 5o+
70,0008 = 16% * 13l 1,120
Ogxt= 10,000
CEHTMATET BA AR
10,000,000& * 14! 10,000
dISH0IR GIERE(SEHI0IR2E IS A ALS) 20,000 0 20,000
306 EX= 20,000 0 20,000
01 E¢3 20,000 0 20,000
OSEHOIE XA
20,000,000 * 14! 20,000
SNNY 54 60,000 60,000 0
2G9N UHEEAEIHAH 2G(INEEXH) 60,000 60,000 0
403 XXM ENH=01H 60,000 60,000 0
02 ZBII2SHICHECHEAFIYI 60,000 60,000 0
OSAIIGAE Hstay 254y 299
60,000,000& = 14! 60,000
HAS(AY - SAIIH/MHAS - DEF}) 641,426 405,310 236,116
=2 240,000
< 39,500
Al 361,926
=Xl 212,346 329,430 A117,084
Jg:XES 50,886 153,930 103,044
201 LEr2EH| 45,886 145,930 A 100,044
01 AtR2elt| 15,886 75,930 A60,044
Oget=EZH| 12,946
o0lMIY JFaE 2,871,000& * 14 2,871
<J|IHRX BE2=2 ME  5,075,0008 * 15 5,075
<JIHRXA JIEE #2  5,000,0008 * 15 5,000
o=zg+4 2,940
MBI YF AR 5lo4Y
70,0002 * 6% = 33 1,260
oENRXAAE 32+=H
70,000& * 7 * 23 980
oENANZE 2oE
70,0008 = 10& » 13 700
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- = — N L=
224 FH.O(3) - HRAY - BES e HlmE2
03 A2 GHI 30,000 70,000 240,000
OJIg=Xl %3 =l 30,000,000& * 14 30,000
301 LetEas 5,000 8,000 A3,000
12 JDIEt2 &3 5,000 8,000 A3,000
OFXt=za sl 5,000,000& * 14 5,000
BRI E4 10,000 20,000 210,000
301 LEEA3 10,000 0 10,000
12 JIEt2 43 10,000 0 10,000
OJIgsXl 4tz (el2tel)
10,000,000& * 14] 10,000
OlMI|ed THE XA 139,500 90,500 49,000
301 LBtEAz 139,500 0 139,500
12 JIEt2 &3 139,500 0 139,500
OJlim = orea
1,000,000& = 12& * QA 108,000
O&FFs X3 (SAHl) 13,500
SES =P 50,0002 = 10¥ = 9& 4,500
oz 50,0002 * 10¥ = 93 4,500
ol lSeM 50,0002 = 10¥ = 93 4,500
O& =&t X3(&Hl) 18,000
o=shM 50,0003 * 10¥ * 42| 2,000
ol 1SsM 400,000& * 10Z * 42D| 16,000
I RIIAY 22 3| 11,960 10,000 1,960
202 G4l 11,960 10,000 1,960
01 =LHO4 I 11,960 10,000 1,960
OJIg=Xgs =0 11,960,000& * 14 11,960
saJ18 2GR 429,080 75,880 353,200
= 240,000
= 39,500
Al 149,580
SAINSME ZECIRQ O 20,000 0 20,000
= 8,000
Al 12,000
307 QIZtolA 20,000 0 20,000
< 8,000
Al 12,000
02 QItAAE X 20,000 0 20,000
O=2=NZ O X2 20,000
oL E [CIRQIALA 10,000,000& * 14 10,000
& 4,000
Al 6,000
oHMZ CIRIALS 10,000,000& * 14 10,000
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NAMARS (M - SAINY/MHAE - D3}
sS40 32 el E
- _ - &4
224 B ORA(3) - MRAY - BES St HImE2
S 4,000
6,000
gHESAIY BH2XH 5,000 5,000 0
= 1,500
3,500
402 212t X=01d 5,000 5,000 0
= 1,500
3,500
2 EEx 5,000 5,000 0
O gHsSA0IY #ZX&  5,000,0008 * 14 5,000
= 1,500
3,500
=ZYHM HAAME HEXH 20,500 20,000 500
202 OdH| 500 0 500
=0l 500 0 500
O=U2 RS &It 230i|
500,000 * 14] 500
2ol 20,000 20,000 0
QB AE R 20,000 20,000 0
O=U2 AME HEXE A
20,000,000 * 14 20,000
sS4y H2XE 33,580 50,880 217,300
ety 3,080 880 2,200
01 ArZ2tcIbl 3,080 880 2,200
OXNEHH d8123 22d+<
70,0008 * 4& 280
OHzid 828 &+% M
100,000& * 34 * 18] 300
OBEAN SLIIHME 82= MA
2,000,000 4 2,000
OoJlgzae 229 500,000& * 14 500
202 OdH| 500 0 500
1 2L 500 0 500
OsAJ1g #2XH 20l
500,000& 4 500
402 22tH=01H 30,000 50,000 220,000
It tEEx 30,000 50,000 /20,000
O®+43 CAHE XIH
30,000,000 * 14 30,000
JEESFY SdE28= 50,000 0 50,000
306 EA= 50,000 0 50,000
01 £ 50,000 0 50,000




AREE= SN HSANASHD
NAMARS (M - SAINY/MHAE - DE3F})
S0y 3gNE (S d &)
- _ - &4
224 B ORA(3) - MRAY - BES Ofl &t 24 St HImE2
OJIgsstsd Sc253 29
50,000,000 * 14| 50,000
Ny Ng2x=s XN 300,000 0 300,000
= 240,000
= 30,000
Al 30,000
402 22tH=201H 300,000 0 300,000
= 240,000
& 30,000
Al 30,000
01 QI2tA=2E X 300,000 0 300,000
O XNy N82x3 X2
300,000,000 14 300,000
= 240,000
= 30,000
Al 30,000
23 |4 - N (2SD=/WED|£HRXH) 50,000 2,550,000 42,500,000
St23t EE 50,000 50,000 0
dEnstua 23 (IHHENH) 50,000 50,000 0
403 XM SA=01E 50,000 50,000 0
02 SIS HSHAAIEH 50,000 50,000 0
Odgistud 293 50,000,000 * 14| 50,000
AY2LIH(H=HML=FLHD) (JIEH/IIE 26,812 28,698 A1,886
H=SH 3,000 4,200 A1,200
el =gl 3,000 4,200 A1,200
203 EF =4I 3,000 4,200 21,200
04 FA2IER=I 3,000 4,200 A1,200
ORNE2EHRFA 250,000& * 123 3,000
=3l 23,812 24,498 686
Jl22&H] 23,812 24,498 686
201 Ler=a| 17,392 12,898 4,494
01 AtR2t2|bl 17,392 12,898 4,494
Oggt==t| 13,188
CHMPAREEY| 4,400,002 * 14! 4,400
ol Y EH|==clH 4,675,0008 * 14| 4,675
oJ|Et=EHI 4,113,0002 * 14| 4,113
Or=11:] 4,204
oJllzg gl 4,204,000& * 14 4,204
202 OdH| 6,420 11,600 25,180
01 =LA 6,420 11,600 25,180
OJ =2 R+--oidl 6,420,0002 * 14| 6,420
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1,282,585
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64,706
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8,166,465

4,203,750
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3,001,720

2,408,010
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g
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359,700
28,800
100,000
33,000
197,900

325,100

34,600

35,000

18,000
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35,000

18,000

17,000

S AFHI X &

35,000,000& * 14

35,000

35,000

18,000

17,000

Z R

200,000
100,000
30,000
70,000

100,000

100,000

Z i A

200,000
100,000
30,000
70,000

100,000

100,000

L]
g
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200,000,000& * 14!

Z

200,000

200,000
100,000
30,000
70,000

100,000

100,000

A&
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108,000

28,800
79,200

108,000

307 QI2HOIA

108,000

28,800
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51,840,0002 * 14!
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M= YHTER SN S
Y SESNI|BRE(SEHYS/5Y - 5E)
ool sEZBAG (=ER-F)
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
sE2Z 435 23| 5,500 4,100 1,400
202 0ddl 4,000 2,600 1,400
01 =UW0bl 4,000 2,600 1,400
SEAMPRFA0L 4,000,000 * 14 4,000
203 PR=&H| 1,500 1,500 0
03 AMFAHSFEIH| 1,500 1,500 0
OsZAMARFA 1,500,000& * 14 1,500
sE2ZHEssdl X2 10,000 0 10,000
< 3,000
Al 7,000
307 212+0I M 10,000 0 10,000
L= 3,000
Al 7,000
02 QA AEE 10,000 0 10,000
OMEs&tI X 10,000,000& 14 10,000
L= 3,000
Al 7,000
sE2d 885 =4 1,200 0 1,200
201 Ler23H| 1,200 0 1,200
01 AtR2elt| 1,200 0 1,200
Oget==&H| 1,200
osHEQIEIIT EAIEHZ
20,000 = 600K 1,200
SEAS Mo|gt & 4d 5,140,030 2,766,620 2,373,410
= 60,000
s 3,527,000
L= 454,000
Al 1,099,030
01D =sZ0ISSEMLAMS 1,657,000 2,322,000 A665,000
s 1,160,000
L= 149,000
Al 348,000
207 A2IHEH| 240,000 0 240,000
s 168,000
< 21,600
Al 50,400
01 g1E9H| 240,000 0 240,000
OZZ0IHE SENISSENL ALY SMAIY &
EH 240,000,000& * 14 240,000
s 168,000
L= 21,600
Al 50,400
307 21201 15,000 15,000 0
s 10,500
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OZZ0IAS SENISSEHEAY AR
1 * 1Al

L 2,000,0002

Z A

15,000

3,000
2,100
270
630

12,000
8,400
1,080
2,520

15,000

AEHIZ S

A

972,000
680,500

87,380
204,120

2,305,000

A 1,333,000

02

03

A&t

OZ20IdS SZE0SSEMLAE

872,000,000& = 14l

|
OZZ0IdS SENISSEHEAY

80,000,000& * 14

NEETE]
OF2A0IAY SENSSHWLAY

20,000,000 = 14|

ZH—I &l ZH_' M

ZpH

872,000

872,000

610,500
78,380
183,120

80,000

80,000

56,000
7,200
16,800

20,000

20,000
14,000
1,800
4,200

2,085,000

220,000

A1,213,000

140,000

20,000

402

AH=0l A

[

=)
FU

430,000
301,000
38,670
90,330

430,000

e

R

Y
M

2

i H

O
04
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SENSSE

o

N AL
430,000,000& 14!

T

430,000

430,000
301,000
38,670
90,330

430,000
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H

A

H

Al

2,524,000
1,767,000
227,000
530,000

375,000

2,149,000
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dHEE= A =3
SESFI|UDE(SHHYSL/5Y - 5E)
SEAS MAD|EF XK (=ER-F)
= - — N L=
2. 2A - FH . ER(ED) - NRAY - BES 0l b e Rz
403 XXISHHSX=01H 2,524,000 375,000 2,149,000
s 1,767,000
< 227,000
Al 530,000
02 BI2SHCHSCHE ALY 2,524,000 375,000 2,149,000
OMEHS SEOSSNE ALY
2,524,000,000& * 14 2,524,000
s 1,767,000
L= 227,000
Al 530,000
MsHEALE2S 12,800 10,500 2,300
201 LEr23H| 8,800 6,500 2,300
01 AtR22ltl 8,800 6,500 2,300
Oget==EZH| 8,800
cE2SME 13,000& * 600CH 7,800
oS HE 10,000& = 100K 1,000
301 LEE A= 4,000 4,000 0
10 AMAHIE A= 4,000 4,000 0
Oltsclt=s4d gl 24
80,000& * 259 * 23| 4,000
s3Z2dA4E XA 84,000 56,000 28,000
= 60,000
Al 24,000
402 QI2EXHEO0IH 84,000 56,000 28,000
= 60,000
Al 24,000
01 QIZIGEE X 84,000 56,000 28,000
O=g3gz&g N 84,000,000 * 14! 84,000
= 60,000
Al 24,000
SEASHADIBIEE 2 A 4,230 3,120 1,110
202 0ddl 4,230 3,120 1,110
01 =UWObI 4,230 3,120 1,110
OgRF& 0 4,230,000& = 14 4,230
A233HS SEMNSSEHLAY 429,000 0 429,000
s 300,000
= 39,000
Al 90,000
403 AtXISHHMSX=01H 429,000 0 429,000
s 300,000
L= 39,000
Al 90,000
02 B 2SHCHSCHE ALY 429,000 0 429,000
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SESFI|UDE(SHHYSL/5Y - 5E)
SEAS MAD|EF XK (S5l &)
- _ - &4
B E9I(30) - NIEANY - BES Ofl &t 24 St HImE2
OroddS SENISE8NZAY
429,000,000& * 14] 429,000
[ 300,000
= 39,000
Al 90,000
H(HNEYH) SE0ISSEML A 429,000 0 429,000
= 300,000
= 39,000
Al 90,000
XSRS 201 ™ 429,000 0 429,000
= 300,000
& 39,000
Al 90,000
02 SIS HSHAAIEH 429,000 0 429,000
U (ANEH)SZ0ISSENL AL
429,000,000& = 14 429,000
fas 300,000
= 39,000
Al 90,000
o g (sHlLM/sY - 5&) 1,103,638 1,287,403 A183,765
= 439,785
Jl 4,320
= 102,000
& 143,720
Al 413,813
NI 509,120 565,930 /56,810
= 75,260
= 102,000
= 96,218
Al 235,642
2,800 2,800 0
= 2,800
202 OdH| 2,800 2,300 500
= 2,800
Hodgl 2,800 2,300 500
g2l RFI0o] 2,800,000& = 14 2,800
= 2,800
= RIDE RPN = 330,000 366,000 36,000
= 100,000
= 66,000
Al 164,000
2et2a=s 330,000 366,000 236,000
= 100,000
= 66,000
Al 164,000
sS=dsltia 330,000 366,000 236,000
== RIDUE PN 330,000,000& * 14 330,000

_23_




Ofl &k 24

k=4 pal

pym
JgH

= n Aq

100,000
66,000
164,000

st=<0l K&

= AL

4,000

2,000
2,000

4,000

= [l

4,000

2,000
2,000

4,000

12 JIEtE &t

o=
OsJt=20l N (=)

4,000,000& * 14!

= AL

4,000

4,000

2,000
2,000

4,000

144,920
72,460
21,738
50,722

106,730

38,190

> n H

144,920
72,460
21,738
50,722

106,730

38,190

144,920,000& = 14!

144,920
144,920

72,460
21,738
50,722

106,730

38,190

H1

Al

20,800

6,500
14,300

14,400

6,400

206 M=Hl

H

Al

20,800

6,500
14,300

14,400

6,400

01 IH=HI
ONd =N

ORI B2l &

e T

20,800,000& = 14!

H1

Al

20,800

20,800

6,500
14,300

14,400

6,400

N

Al

6,600

1,980
4,620

6,600

301 Let2a=s

H1

Al

6,600

1,980
4,620

6,600

07 212+e1=2|0
=]

X HHI K&

6,600,000& » 14

H1

Al

6,600
6,600

1,980
4,620

6,600
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- _ — PolE |
2 2A BB O(EN) - HRAY - B 0l &t St HIRE2
EsgolEsy 79,850 84,080 24,230
= 4,325
| 4,320
S 1,162
Al 70,043
sXZelfas 29 10,800 25,660 A 14,860
| 4,320
Al 6,480
307 21201 10,800 11,700 2900
| 4,320
Al 6,480
02 QI2tAAE X 10,800 11,700 2900
OsXZelfds 29 10,800,000 * 14! 10,800
| 4,320
Al 6,480
Y sS4 MRl 2H(IUNEEXLH) 15,000 15,000 0
403 AtXISHHMSX=01H 15,000 15,000 0
02 S| 2SHCHECHE ALY 15,000 15,000 0
EEIENS- I ELTE TR
15,000,000& * 14! 15,000
s WsEH A2 18,300 23,200 24,900
201 Zet23d] 1,200 3,000 21,800
01 AtR2elt| 1,200 3,000 21,800
Oo2g+¢ 1,200
oz NE LAtsE 200,000& * 63 1,200
301 LEE A= 15,600 18,200 22,600
10 A2 HIZ2 &S 15,600 18,200 2,600
Osgolus HFAWHIE4 130,000& * 120H 15,600
308 XXM SOIA 1,500 2,000 A500
05 MXISHIEES 1,500 2,000 2500
Osgolusdgalt] 1,500,000& * 14 1,500
sSHsEIEHEN sl X2 8,650 7,100 1,550
= 4,325
S 1,162
Al 3,163
301 LEE NS 8,650 7,100 1,550
= 4,325
< 1,162
Al 3,163
12 JIEt2 4= 8,650 7,100 1,550
Osd==8 B3R K2
8,650,000& » 14! 8,650
= 4,325
= 1,162
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dHEE= A =3
SYUASY 4ol S (sHllLsM/5Y - &)
CEEERE-EE (958
- _ - PolE |
224 FH - ER(3) - NRAY - BAS 0l st St HimE=+1
= 353,500
< 45,450
Al 106,050
Ssits 2HALS (ML= - &) 4,166,010 3,159,345 1,006,665
= 754,000
| 60,386
< 278,473
Al 3,073, 151
AlANESZHEE WD 2,693,880 1,353,397 1,340,483
= 754,000
< 90,030
Al 1,849,850
QEE=S HEF 6,000 9,000 23,000
< 1,800
Al 4,200
402 2IZtHE01A 6,000 9,000 23,000
S 1,800
Al 4,200
01 2= x 6,000 9,000 /3,000
OFE=+HE3 6,000,000& * 14! 6,000
< 1,800
Al 4,200
r=82 A HAE X 21,600 13,500 8,100
< 6,480
Al 15,120
301 LEE A= 21,600 13,500 8,100
S 6,480
Al 15,120
12 JIEtE4 = 21,600 13,500 8,100
ONESSZ AU 21,600,000& 14! 21,600
< 6,480
Al 15,120
H Hols SSYM s=X& 350,000 350,000 0
402 2IZtH=E01A 350,000 350,000 0
02 2IZHCH AR 350,000 350,000 0
OngiiEsssgM s
350,000,000& * 14 350,000
2ESIIA SS(2eldIs) 6,000 11,440 5,440
S 1,800
Al 4,200
402 QIZHGHE01A 6,000 11,440 5,440
S 1,800
Al 4,200
01 BIZEG=E X 6,000 11,440 5,440
OagsllAssS 6,000,000& * 14! 6,000
S 1,800
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M= YHEER
B YS=NS WA (s
SHol: AlZFR2AIE KD

- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
| A 7,200
HUEIE=+=1 XI& 20,000 0 20,000
301 LetEas 20,000 0 20,000
12 JIEtE2 4= 20,000 0 20,000
OHHIg+=HHIXI& 20,000,000 * 14! 20,000
Algas FHIgs A& 4,800 5,000 A200
201 LEr23H| 3,200 3,400 A200
01 AtR22lt| 3,200 3,400 A200
Oget==&H| 500
cEBEYUMH 100,000& * 54 500
Or=1=1i:] 2,700
oZ3HI=E=01 Sl
150,000& + 1882 S 2,700
301 LetEas 1,600 1,600 0
10 A HIZ2 &S 1,600 1,600 0
OAZHZ 012r010{H| 24t
80,000& = 10& » 23| 1,600
FIIE HIEXJA A 1,274,000 342,857 931,143
= 754,000
= 58,500
Al 461,500
402 SI2HAHE01H 1,274,000 0 1,274,000
= 754,000
S 58,500
Al 461,500
02 CIZHIHRHAIZ I 1,274,000 0 1,274,000
ORIJIE HIZX& 949,000,000& =+ 14l 949,000
= 754,000
< 58,500
Al 136,500
ORJIE HIzX& 325,000,000& * 14 325,000
DHXNZ A BS3ALY 151,200 189,000 237,800
308 MXIHMSOIA 151,200 189,000 237,800
05 XXISHHZ2tRES 151,200 189,000 A37,800
ONHXNZXE St 151,200,000& * 14! 151,200
AESIHSS(HASELHEHIXIR) 5,000 6,000 21,000
< 1,500
Al 3,500
402 2IZtHE01A 5,000 6,000 21,000
< 1,500
Al 3,500
01 QIZIEE X 5,000 6,000 21,000
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M= YHEER S S
B ASSAS IHAAS(SYHLLM/5Y - 55)
Shol: AIZFEISAM FlD (e & 2l)
= - — AN L5
A RN - FHH . C(B) - HRAY - BYS O &t o e HRZ
SEEESIFIREEEED R
5,000,002 * 14! 5,000
= 1,500
Al 3,500
HISKH 2cl=Hg X2 7,500 16,000 28,500
< 2,250
Al 5,250
206 M 7,500 16,000 £8,500
< 2,250
Al 5,250
01 24| 7,500 16,000 28,500
OHESI 22l =HE XIg
7,500,002 * 14! 7,500
< 2,250
Al 5,250
CESVEIE=T ST EPNIEpY 24,000 22,000 2,000
< 7,200
Al 16,800
402 QIR0 H 24,000 22,000 2,000
= 7,200
Al 16,800
01 RIRA=RE 24,000 22,000 2,000
OHRT2IE HILsISALX
24,000,000& = 14! 24,000
< 7,200
Al 16,800
AEANE JUHNLD 293 1,700 1,200 500
202 O4Hl 1,700 1,200 500
01 =UWxHI 1,700 1,200 500
OalgdaE HRF& Ol 1,700,000& = 14! 1,700
B 2E AZAL MY A 40,000 0 40,000
402 QIR0 F 40,000 0 40,000
IS 40,000 0 40,000
Obl BEAZAIM X/¢
10,000,000& = 871 * 50% 40,000
eNE HEE PE 2E NEALY 209,160 0 209,160
402 QUIZHGHE01A 209,160 0 209,160
02 RIRFCHE AL b 209,160 0 209, 160
OgxE 2HE PELE KW
24,0002 * 830ha * 158 * 70% 209,160
B MblsJt =X AHE 457,920 0 457,920
402 SI2HRHE01H 457,920 0 457,920
02 CIZHHRH AL I 457,920 0 457,920
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AR RN ZH - (EH) - NRAY - BES 03] &k o8 St BlRE2
| OHMHH =0t &4EXR 6,000& * 76,3201 457,920
HedsHUAEsIIAH K& 20,000 0 20,000
402 QU2HXE0IA 20,000 0 20,000
01 gltt=Ex 20,000 0 20,000
OA8sIIH 32 2,000,000& * 20CH * 50% 20,000
B S5otA X NF ALY 60,000 0 60,000
402 SI2HXHE0IH 60,000 0 60,000
01 QIZEEE X 60,000 0 60,000
Obl QoA 4xl
10,000,000& * 10= * 60% 60,000
AL 22AXD| B2 10,000 0 10,000
= 3,000
Al 7,000
402 QIHAHE0IA 10,000 0 10,000
< 3,000
Al 7,000
01 gltt=Ex 10,000 0 10,000
OFHAM Z5=A4XD| 25
10,000,000 * 14! 10,000
= 3,000
Al 7,000
NEEH MAHIEY 25,000 0 25,000
= 7,500
Al 17,500
402 QIHAHE0IA 25,000 0 25,000
= 7,500
Al 17,500
01 gltt=Ex 25,000 0 25,000
ONSEM MAHIIZAS  25,000,0008 * 14! 25,000
= 7,500
Al 17,500
SUERSE LS 512,800 596,310 283,510
= 31,500
Al 481,300
dAE SHSLA=E XJ 200,000 305,000 A 105,000
402 QI2EXHE0IH 200,000 300,000 100,000
01 QIZIGEE X 200,000 300,000 100,000
OHYE HEAs 54 200,000,0008 * 14! 200,000
HEUES X0l SAt 13,000 10,000 3,000
307 21201 13,000 10,000 3,000
04 CIZHHALE X 13,000 10,000 3,000
OHEUEEX0| A 13,000,000& * 14 13,000
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A= FRES SN =T
HH: YSSAS YBAYSH(SYHYSL/SY - 5E)
e e Tk (ol @)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
A3 sE4at2 ZEOIAC! e 13,500 81,500 268,000
< 4,050
Al 9,450
402 2IZtGHE01A 13,500 81,500 268,000
S 4,050
Al 9,450
01 QIZIGEE X 13,500 81,500 268,000
OLEsSLSEHO XA
13,500,000& » 14! 13,500
< 4,050
Al 9,450
EXA SEESH XE 5,000 5,000 0
< 1,500
Al 3,500
402 QI2HXHE0IH 5,000 5,000 0
S 1,500
Al 3,500
01 QIZEEE X 5,000 5,000 0
OZ=XNASEL2SH 5,000,000& » 14! 5,000
< 1,500
Al 3,500
SMHESZOHAIE A2 35,000 55,000 220,000
402 SI2HXHE01H 35,000 55,000 220,000
01 2I2tEEx 35,000 55,000 /20,000
OZ0HAIE AlEE 2 35,000,000& * 14! 35,000
SSNMSEHEBNHEEXNA 40,000 10,000 30,000
201 YLEr2H| 20,000 10,000 10,000
01 AtS2elH| 20,000 10,000 10,000
Oget==&H| 20,000
SR\ 20,000,000 * 1A 20,000
401 AIEHIZLSOHYI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
ODIS=SMHESER UABET
20,000,000 = 14! 20,000
stte =S A& 24,500 10, 160 14,340
201 223 16,500 6,160 10,340
01 AtR2elt| 16,500 6,160 10,340
Oget==&H| 16,500
oREEE=SHHA 5,000& = 1,000% 5,000
e R E R RN
100,000 * 200K 2,000
o s oS HEJ R 1,000,000& * 5& 5,000
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dHEE=
USSHS BAUS (SN
StERS84d3 PLEB
- _ PolE |
224 B E(3D) - AR St 2
ZEe IIXEE FS3 A 20,000 20,000
402 SI2HXHE0IH 20,000 20,000
01 22tEEx 20,000 20,000
OaEetit MEEEE M=l
20,000,000& * 14 20,000
st Mt X 70,000 70,000
402 QI2HXHEOIH 70,000 70,000
01 QIZEEE X 70,000 70,000
OsMSHEL+EX(5E)
70,000,000 = 1CH 70,000
XeIHEAM SEXS 30,000 30,000
< 9,000
Al 21,000
402 QIHAHE0IA 30,000 30,000
< 9,000
Al 21,000
01 2I2tEeEx 30,000 30,000
OXclIZEAMMSEXNA 30,000,000 * 1A 30,000
= 9,000
Al 21,000
OISZ datdjgt 24 767,030 189,130
| 60,386
= 105,693
Al 600,951
W=AT I KA 1,140 1,140
J| 570
Al 570
307 21201 1,140 1,140
| 570
Al 570
02 QIZHBAE XL 1,140 1,140
Ot==3AZH| 1,140,000& * 14 1,140
| 570
Al 570
Y=Y MK 12,500 A12,500
= 3,750
Al 8,750
402 QIHAHE0IA 12,500 212,500
= 3,750
Al 8,750
01 gt 12,500 212,500
O3 AN DX A 12,500,000 * 14! 12,500
= 3,750
Al 8,750
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e

A - Bia =

Ofl &k 24
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JgH

H
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50,000

15,000
35,000

50,000

i

Al

50,000

15,000
35,000

50,000

01

50,000,000& » 14|

H

Al

50,000

50,000

15,000
35,000
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H

Al
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27,000
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50,000
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i
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27,000
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90,000,000 » 14!

H
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27,000
63,000

50,000
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H
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1,320
3,080

6,600
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i

Al

4,400

1,320
3,080

6,600

A2,200

4,400,000 *14|

H

Al

4,400

4,400

1,320
3,080

6,600

N2,200

H

Al

6,000

1,800
4,200

9,000

23,000

402

i

Al

6,000

1,800
4,200

9,000

23,000

6,000,000& * 14!

H

Al

6,000
6,000

1,800
4,200

9,000

23,000

) 2 RIKT 2 AL

H

Al

313,600

15,318
298,282

87,500

226,100

i

313,600
15,318

87,500

226,100




M= YHEER
o T
B ASSMS AWAYS(5Y
Al =]

ool RIS MAD|E T4

- _ — Pl
AR RN ZH - (EH) - NRAY - BES St BlRE2
Al 298,282
02 SIZHIHEAIZHI 313,600 87,500 226,100
OMAYMNS(RAOHAHY )& HIXI&
80,000,000 * 14! 80,000
= 15,318
Al 64,682
OMAYoS(RA0HAY ) S HIXI2
233,600,000& * 14 233,600
o2 EL 2EHX I X 3,150 3,000 150
L= 945
Al 2,205
402 SI2HXHE0IH 3,150 3,000 150
= 945
Al 2,205
02 CIZHHRH AL I 3,150 3,000 150
ORUNHNSELL2SLR I XA
3,150,000& * 14! 3,150
L= 945
Al 2,205
DX AAS A= 54 41,000 0 41,000
402 QU2HXE0IA 41,000 0 41,000
01 22tEEx 41,000 0 41,000
ODHX AASHS S4(45)
5,000,000& * 10& *» 70% 35,000
OLNYI MASHES S4(AD)
3,000,000& * 2a 6,000
EE WX SHEAS 50,400 0 50,400
402 QU2HAE0IA 50,400 0 50,400
01 gltt=Ex 50,400 0 50,400
OH|JtgoteA 60,000,000& * 14! * 60% 36,000
OREEE(23) 7,500,000& * 141 % 60% 4,500
OgAld XU &X
16,500,000 » 14l * 60% 9,900
DSEAGH HAXH K2 200 0 200
< 60
Al 140
206 =4l 200 0 200
< 60
Al 140
01 M=l 200 0 200
OLSEUALNEAXIHAIZ  200,0008 * 14! 200
< 60
Al 140
ANEHNSZ M AL 75,000 0 75,000
< 22,500
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FMEE= fM  sEY
YSSHS JBBAS(SYHY /5 - 5E)
A0S MAI|BH EA CER-ED
22N "B G(S) - HPAY - BES 0l &t e HIRS2
Al 52,500
402 QU2HAE0IA 75,000 0 75,000
< 22,500
Al 52,500
01 2l2tEEx 75,000 0 75,000
OAE&H2tE NS 75,000,000 * 14 75,000
< 22,500
Al 52,500
ANEZ0 OUXOIZESEStAIS 119,640 0 119,640
| 59,816
= 18,000
Al 41,824
402 QI2EXHEO0IH 119,640 0 119,640
| 59,816
L= 18,000
Al 41,824
01 2I2ttEEx 119,640 0 119,640
OAMEJW0HXIOIBES3IAY
119,640,000& * 1 119,640
| 59,816
= 18,000
Al 41,824
e = 2435 192,300 631,738 A439,438
= 51,250
Al 141,050
sS4 =£=48dl N& 50,000 59,000 A9,000
= 10,000
Al 40,000
307 gIztold 50,000 59,000 A9,000
< 10,000
Al 40,000
02 GItAAS X 50,000 59,000 A9,000
OsE4=+=EZ4HIXE  50,000,0008 * 14! 50,000
= 10,000
Al 40,000
T=ESHMANE2E 25,000 25,000 0
= 7,500
Al 17,500
402 QU2HAE0IA 25,000 25,000 0
& 7,500
Al 17,500
01 22tEEx 25,000 25,000 0
O==sZH 25,000,000 * 14 25,000
= 7,500
Al 17,500
+=EFYSF LA 112,500 75,000 37,500
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JHEER SN SED
Hees(s U4/ EE - BE)
=ANE erol e
- - &4
224 B ORA(3) - MRAY - BES St HImE2
OsMSCHAIEXILSO0IXH'9E-1})
7,200,0002 * 14 7,200
Os LS 0IXH('99E-2%})
9,500,000 4 9,500
601 X+ 552,500 A1,500
04 =& sS4 552,500 A1,500
Os U=2=('99E-11)
238,500,000 * 14 238,500
Os USHS('PE-21)
314,000,000& 4 314,000
HEHHXI = ,000,000 0 1,000,000
sHEZdIIZ &4 ,000,000 0 1,000,000
02 JIsdE=2 ,000,000 0 1,000,000
01 JI=SdES 1,000,000 0 1,000,000
OsgEgdlls =4 1,000,000,000& = 14| 1,000,000
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OHIE=&H

7,000,000& * 1

1z

7,000

M= FYEE= SN SN
B FYENYB Y (WSS - 5E)
M IIIHOHE | o Mg
= — Al L=
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
ey 3,279,467 1,863,926 1,415,541
= 330,007
= 431,390
Jl 307,119
= 285,214
Al 1,925,737
SM3 WY Lo (sHMLM/5Y - &) 3,260,764 1,832,663 1,428,101
= 330,007
= 431,390
Jl 307,119
= 285,214
Al 1,907,034
=P p= RRel S DAL 1,427,266 680,175 747,091
= 100,000
= 250,000
Jl 218,364
= 76,740
Al 782,162
A AAXRA 190,000 0 190,000
402 2I2tXH=01H 190,000 0 190,000
01 eIt AE2Ex 190,000 0 190,000
ORENS TS LA R Z A
100,000,000 * 14! 100,000
OxAz SEerd JHIE=
60,000,000 *14 60,000
OS2 LA Al ZHEY
30,000,000 14! 30,000
Hsie 54 30,000 30,000 0
307 21201 ™ 30,000 30,000 0
05 22t E= 30,000 30,000 0
OFMd A=A 30,000,000 * 14| 30,000
ESHEAL 24,000 24,000 0
402 22tXH=01H 24,000 24,000 0
01 eIt E2x 24,000 24,000 0
OESH 24,000,000 * 14| 24,000
HetM=Il K& 25,000 0 25,000
402 212t X=201H 25,000 0 25,000
01 eIt =Ex 25,000 0 25,000
OAAAEIIXNE 25,000,000 * 14| 25,000
Zlatd FHoksIt Hadl X 40,000 37,075 2,925
206 TH=H] 40,000 37,075 2,925
01 MZ4l 40,000 37,075 2,925
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A= FES SN BN
MY FYEMPVS Y (SYHY 4N/ - 5E)
Sl SASIRIYOIZ IR (e @
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
10 HAMAHIE A= 7,900 9,600 21,700
OFoe0tgd & X &0 X 4,700
o ELSIN &R FIHE)
3,200,000& =14l 3,200
oRAEHS| It (5Y) 1,500,000& *14] 1,500
OFAEHE ZH3| &It
80,000& = 23| » 20H 3,200
307 21201 3,000 3,000 0
04 QIZHHAIE & 3,000 3,000 0
O=4t0l st Hsl HAXIA
3,000,000& * 14 3,000
StRRSAAE 224,235 195,480 28,755
J| 156,964
= 20,181
Al 47,090
307 21201 224,235 195,480 28,755
| 156,964
< 20,181
Al 47,090
02 QIHAMEX 224,235 195,480 28,755
O stuRFa ALY 224,235,000 * 14 224,235
J| 156,964
< 20,181
Al 47,090
FEINZHIsSRF4N 6,100 7,800 A1,700
< 1,830
Al 4,270
402 QI2HXHEO0IH 6,100 7,800 A1,700
< 1,830
Al 4,270
01 QIZIEE X 6,100 7,800 21,700
OFZINEX 1SZ 2[4
6,100,000& » 14 6,100
< 1,830
Al 4,270
FUDLSL=SSIALY 400,000 0 400,000
s 250,000
Al 150,000
402 SI2HXHE0IH 400,000 0 400,000
s 250,000
Al 150,000
01 22tEEx 400,000 0 400,000
Omtlogds 2d=S3AtE
400,000,000& * 1A 400,000
s 250,000
Al 150,000




FMEE= 2A S
HYSANAYY (SN 5Y - 5E)
=S YOI KR (ol w2
N L=
22N "B G(S) - HPAY - BES e HIRS2
HArssd NSNS 7,000 7,000
L= 2,100
Al 4,900
402 QIZHRHE01A 7,000 7,000
< 2,100
Al 4,900
01 QIEEEX 7,000 7,000
HArssd NN 7,000,000& » 14 7,000
L= 2,100
Al 4,900
LM NS EE LSS M AAI 200,000 200,000
= 100,000
Al 100,000
402 QIZHAHE0IA 200,000 200,000
= 100,000
Al 100,000
01 QIEEEX 200,000 200,000
OIF NEESASEMAAIL
200,000,000& * 14! 200,000
= 100,000
Al 100,000
TAZZEMAIZ X HM=Hl X 54,000 54,000
Il 32,400
= 6,480
Al 15,120
402 QIHAHE0IA 54,000 54,000
Il 32,400
= 6,480
Al 15,120
01 QIEEEX 54,000 54,000
EAE ZYMAILRIX MEH X2
54,000,000 = 14! 54,000
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- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
OdteEoli = 2HA 20,251,000& = 14! 20,251
= 10,125
< 3,037
Al 7,089
SAENEIASE (MXES2LIEEY) 13,628 14,012 N384
= 8,177
S 1,635
Al 3,816
101 @124 13,528 13,812 A284
= 8,117
< 1,623
Al 3,788
10 JIZtMI2Z2 XS E+ 13,528 13,812 N84
OXINdEZLIHE 13,528,000 » 14 13,528
= 8,117
= 1,623
Al 3,788
301 LetEas 100 200 A 100
= 60
= 12
Al 28
10 AtAHIE A= 100 200 A100
OXIdELZLIHE 100,000& * 14 100
= 60
= 12
Al 28
2353l 32,164 23,834 8,330
= 9,649
Al 22,515
401 A&HIRH S0 32,164 23,834 8,330
< 9,649
Al 22,515
01 Al&dI 32,164 23,834 8,330
OEs=&tl(2&d) 32,164,000& = 14! 32,164
= 9,649
Al 22,515
L4E 2UR 32 2 15,000 0 15,000
307 21201 15,000 0 15,000
02 QIHAAEX 15,000 0 15,000
OLEALIR d52 24 15,000,000& * 14! 15,000
FRI=2H OloHs MAH 20,000 0 20,000
401 A&HIZL SO0 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O=CI=™ Tloi= HMA 20,000,000 * 14 20,000
AHEMEISE 22| 4,000 2,600 1,400
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LV RE-L R

Ofl &k 24

k=4 pal
pym

JgH

202 o4l

4,000

2,600

01 =AYl

Outzl el & dlIs &

ao=x<
L
1

Xl
,000,000& * 4%

4,000

4,000

2,600

S . g2

or

3,021,067
569,318
409,454

2,042,295

3,482,590

A461,523

680, 138
272,055
122,425
285,658

503,502

176,636

425,038
170,015

76,507
178,516

351,150

73,888

BNy
4

5,640,000& * 70H

250,000& » 49&

2,450,000& * 5ha

A

,247,000& * 4ha

425,038

394,800
157,920

71,064
165,816

= n H

1,000
400
180
420

12,250

4,900

2,205

5,145

> n H

> n H

16,988
6,795
3,058
7,135

351,150

73,888

201 et

99,000
39,600
17,820
41,580

> n H

69,920

29,080

61,7002 = 500&

200,000& * G60Z

99,000

30,850
2 12,340
= 5,553
Al 12,957
12,000

2 4,800
= 2,160
Al 5,040

59,920

39,080




2B GL(3) - RN - B ofl &t e HIDE2
Ott=2 8 ztg 4| 5,000 = 2,0308 10,150
= 4,060
= 1,827
Al 4,263
OFeoldidd Pt 46,000,000& » 1CH 46,000
= 18,400
= 8,280
Al 19,320
202 OH| 6,000 0 6,000
= 2,400
& 1,080
Al 2,520
01 =Wl 6,000 0 6,000
Ou=d3stEs 20,0002 = 300 6,000
= 2,400
= 1,080
Al 2,520
401 AlZHIZ SO 30,000 10,000 20,000
= 12,000
& 5,400
Al 12,600
01 AlZHI 30,000 10,000 20,000
ORUAZ At 2SS E X
10,000,000& * 2742 20,000
= 8,000
= 3,600
Al 8,400
ORZ ATt R+
5,000,000& = 2J 2 10,000
= 4,000
= 1,800
Al 4,200
405 XrabH =8| 120,100 22,432 97,668
= 48,040
S 21,618
Al 50,442
01 TMHEEFS 120,100 22,432 97,668
OFRUERHII 800,000& * 7& 5,600
= 2,240
= 1,008
Al 2,352
Ot=8dE+8 1,500,000& » 178 25,500
= 10,200
= 4,590
Al 10,710
O&=ZISRt 50,000,000& * 1CH 50,000
= 20,000
& 9,000
Al 21,000




dHAE= FAMESA
T - ME PSS TH(SYHSSL/LY - UE)
e g RRlls 2t (e ®e)
RN BE - ERI(E) - MRAY - B 04 & o e HIDE2
ORMd=2SAFHI(Xt&E=)  3,000,0008 * 1CH 3,000
2 1,200
= 540
Al 1,260
OREISAFHI(SAHIIXN=)
10,000,000& * 1CH 10,000
= 4,000
== 1,800
Al 4,200
O HBHHSTBIA| A (AS)
3,500,000& = 4CH 14,000
= 5,600
= 2,520
Al 5,880
OJAHSHMEX SN A (SE)
6,000,000& * 2CH 12,000
= 4,800
& 2,160
Al 5,040
teEs2st 430,104 209,410 220,694
2 258,063
= 51,613
Al 120,428
101 el2d| 416,038 202,290 213,748
= 249,623
= 49,925
Al 116,490
10 JIZtMI22 RS2+ 416,038 202,290 213,748
Ooutgd 2523t 416,038,000 = 14! 416,038
2 249,623
[ 49,925
Al 116,490
201 et 8,160 0 8,160
= 4,896
S 979
Al 2,285
01 At2teldl 8,160 0 8,160
OAtRIE 523} 240,0002 * 34% 8,160
= 4,89
[ 979
Al 2,285
202 044l 1,906 0 1,906
= 1,144
S 229
Al 533
01 SUHAbI 1,906 0 1,906
OMRIE 523 1,906,000 * 14! 1,006
= 1,144
& 229
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« & ZH .
(=]

SOl (31H) - HIBAIY - B2

Ofl &k 24

k=4 pal

pym
JgH

533

301 YerEAl

=

4,000
2,400

480
1,120

1,800

2,200

=
O 2
r =
ooz
&
fon HI
0¥ 0

oy

ol

4,000,0002! * 14!

Z

4,000

4,000
2,400

480
1,120

1,800

2,200

=

56,000
39,200
8,400
8,400

56,000

401 AIEHIZ SO

Z

56,000
39,200
8,400
8,400

56,000

56,000,000& = 14!

Z

56,000

56,000
39,200
8,400
8,400

56,000

ST AN Z A

N

Al

328,320

98,49%
229,824

218,560

109, 760

101 21244

H1

Al

328,320

98,49%
229,824

218,560

109, 760

10 JI2tH22 X

O/HEF 2R

tS
|

=]

I

ZHAl

4

[0

Ui X

328,320,000& * 14

N

Al

328,320
328,320

98,49%
229,824

218,560

109,760

N

Al

72,400

21,720
50,680

62,400

10,000

H1

Al

72,400

21,720
50,680

62,400

10,000

72,400,000& * 14

N

Al

72,400
72,400

21,720
50,680

62,400

10,000

N

Al

92,000

27,600
64,400

92,000
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FENE T (sl oHE
Mg 2tellls et CERED
Y. S2A(3) - HRAY - BES ofl &t e HIDE2
242 92,000 0
= 27,600
Al 64,400
242 92,000 0
A ASHZXR 92,000,0008 * 14 92,000
= 27,600
Al 64,400
Il 264,000 0
= 79,200
Al 184,800
IXIEHHSOIA 264,000 0
= 79,200
Al 184,800
HH2RE S 264,000 0
S0 SR 264,000,000 * 14] 264,000
= 79,200
Al 184,800
A& 643,440 219,200
Fals) 500,000 0
JIH2Z2XSE+ 500,000 0
Otl=7=ZAE 500,000,000& = 14 500,000
get2d| 93,540 A3,000
AR 22l 70,000 A7,000
Ooge==2H| 38,500
oN=0E N 8,000& = 1,3750K 11,000
oME0E AL 4,000& = 2,0000K 8,000
oftE0e 24 5,000& = 1,6007H 8,000
oSSR M= 5,000& = 500& 2,500
o= E2= ME  5,000,0008 * 14 5,000
optEdat QM E A 50,0002 * BOME 4,000
Ol =H] 15,000
ottEd s 100,000& * 80% 8,000
oft=dat QtM S} 70,0002 * 100% 7,000
Or=11:] 10,500
odtEdld2F SE
5,000& = 10& = 150 7,500
oitzed 5,000& = 200 * 23 2,000
oMEUT S 5,000& = 100& * 23 1,000
Ogxz 6,000
o RLIZAIDIMICH &4 LU
6,000,000& = 1CH 6,000
24| 23,540 4,000
222 & HAl 4,740
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- _ — Pl
SN FH - SRI(E) - HRAY - BYS St BlRE2
oRHMI| AMZ 20,0002 = 100CH 2,000
SROIAADIMR ShLLD
300,000& * 504 1,500
oM=EEIII SUAS 1,240,0008 * 14 1,240
OAEEBIF A 5,000
oMEBAAES RAES
300,000& * 10002 * 13] 3,000
oMZSRIZAIDIHICH B
2,000,000& » 102 2,000
OXte. &et| 13,800
oitE0Y 2 AstXg |
300,000& * 5CH » 6& 9,000
oMEMSIXE S A2l
200,000& * 4CH » 63 4,800
301 2etEas 44,900 61,100 A 16,200
03 olEALHARAZYI 7,500 7,500 0
Ooog2ei X 2,500,000& * 3HA 7,500
12 JIEtE2 4= 37,400 53,600 A 16,200
ORI & ¢=0gas N
200,000& * 162¥ 32,400
O/rE0toll Al 4t 1,000,000& * 5& 5,000
303 Z&3 5,000 5,000 0
01 Z&a3 5,000 5,000 0
Ott= A /3712 Lt
500,000& * 10JHJ|2t 5,000
SUXNUHH(SHS) 72,000 62,650 9,350
201 YLEr2H| 72,000 54,650 17,350
01 AtS2elH| 50,000 42,350 7,650
Oget==&H| 10,000
oMY EES ¥ MoEH £
10,000,000& * 14 10,000
O=&Hl 40,000
oMEIR =AlHl S 40,000,000 * 14! 40,000
02 3Z2=24H| 20,000 10,300 9,700
OAE EHI= AL 20,000
oltEXE ¥ HHl 7XZel S
20,000,000 * 14! 20,000
03 A2 2,000 2,000 0
Odt=0e ZUA s 2,000,000& 14 2,000
SNERNEESZ 2 156,114 181,573 N25,459
101 Q12| 26,526 51,805 A25,279
10 JIZtNI22 S8+ 26,526 51,805 A25,279
OMEgisE2 AIE2 2l 12,722




ZHEE= A AE=sX0
T - ME PSS TH(SYHSSL/LY - UE)
te A Ag2e s 23t (el &3
CEA - FBSR(EN) - HRAY - BYS 04 4t o e HIDE2
=llZs 40,6003 * 1H » 230 9,338
oxFdE 40,6003 * 1 * 46 1,868
SRPN I =y 40,6002 * 18 » 11 447
oAN2t2l=E 6,680 * 18 * 202 » 8AI2} 1,069
Odts =22 oty 10,150
=llEzs 40,6003 ~ 1H » 200 8,120
=J|Et=E 2,030,000& » 14| 2,030
Ot lEe2a FHN=HY L sttt
40,6003 * 3% » 30 3,654
201 et 110,920 113,100 22,180
01 AR22IH] 6,500 8,680 A2,180
OgutagH| 6,500
SARX 5% L AF+42
2,000,000& * 14 2,000
oMEEIEER BEEE WA
300& = 10,00001 = 13 3,000
ocdPRHAIE ALEIHIZ 100,000& * 12& 1,200
CMBETAE B4 HEH
100,000& * 3HA * 13 300
02 2324l 104,420 104,420 0
Oss2= ¥ MAl 81,580
CAMAE HY 248
800,000& * 13| * 2084 1,600
oMI|IZ 68,650
es 1,277,080 * 128 » 2004 30,650
NE=1=d 1,583,333& * 128 » 204 38,000
SEAEE k] 50,0002 = 12 50
odiZ|HIOIEH 228 BE++8
80,000& = 122 960
oAFI|IH 228 ZI=
100,000& + 123 1,200
CHMIIUHMHEHES =2
200,000& * 2JHA + 128 4,800
oRAHEY =22
180,000& * 24 + 123 4,320
Og=Hl 7,840
ottEglIEsE2 A=Yl
980 * 2,0002IE * 43 7,840
OA&EHI=Xd] 15,000
oA= KA 8,000,000& * 14! 8,000
o HMIIAE R 1,000,000& * 3JHA 3,000
oZtE & SAAIE HHIRX 1,500
o2tE JIHANE KA
2,500,000& * 14 2,500
301 YprEaa 12,668 12,668 0
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- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
12 JIEt2 4= 12,668 12,668 0
Ot XNE2 S MEcidlt 24
40,6002 * 3H » 1042 12,668
401 AIEHIZLSOHYI 6,000 4,000 2,000
01 Al&HI 6,000 4,000 2,000
ORIt JIHA & - 2] A2&Y
6,000,000& » 14! 6,000
AHETE X 221,551 106,985 114,566
201 2et23d] 3,100 3,600 A500
01 AtR2elt| 3,100 3,600 A500
Oget==&H| 1,600
o287 =2
2,500& * 2& * 3200H 1,600
O= gt 1,500
oMHZ LA S4H 5,0008 * 6 * 502 1,500
308 XXISHMSOIA 218,451 103,385 115,066
05 MXIHIEES 218,451 103,385 115,066
OAIZAI AlBIRE S 218,451,000& * 14 218,451
SN 2el 233 5,000 3,250 1,750
202 O4Hl 5,000 3,250 1,750
01 =UWxHI 5,000 3,250 1,750
Oat=28 X - At 2e|D|ls 23 GRFA
1,000,000& * 53 5,000
MEAS . 23|E B 13,057,391 8,559,521 4,497,870
= 6,580,670
s 1,186,000
S 1,985,491
Al 3,305,230
AEMEN0E =4 95,000 5,200 89,800
s 86,000
< 2,700
Al 6,300
401 Al&HIZL R0 95,000 0 95,000
s 86,000
< 2,700
Al 6,300
01 Al&dI 95,000 0 95,000
OLHEMEIOIS Y D2 2 AAEH
65,000,000& * 14! 65,000
s 65,000
OAHM THoff Z &k Dt 30,000,000 = 14! 30,000
s 21,000
= 2,700
Al 6,300




A . HRA(SA) - NRAMNY - BES

0l &t

k=4 pal

pym
JgH

s
S
Al

2,000,000
1,000,000
500,000
500,000

2,501,400

401 AlZHIYL 200

=
<
Al

2,000,000
1,000,000
500,000
500,000

2,500,000

500,000

1,980,000,000& = 14!

20,000,000& = 14!

—

,980,000

,980,000
990,000
495,000
495,000

20,000
20,000
10,000
5,000
5,000

—

2,465,840

5,320

A485,840

14,680

Z W

5,538,595
3,410,328

818,481
1,309,786

3,207,693

2,330,902

401 AlZHIYL 200

Z

1,921,380
1,110,766
246,184
564,430

2,681,189

AT759,809

01 Al£H]
OZURI30|

O

P
o

NP

02 Zcldl
OZURI0|

03 AIZ20HHI
OZURIHJ|

1,390,097,000& = 1Al

231,283,000& * 14

200,000,000& * 14l

100,000,000& * 14

> n H

zl‘ﬂ H ZH_l H

> n H

1,621,380
1,390,097

772,276
185,346
432,475

231,283

128,490
30,838
71,955

200,000
200,000
140,000
20,000
40,000
100,000
100,000
70,000

10,000
20,000

2,538,188

143,001

/916,808

56,999

100,000

r
r

k=)
N

402 NEJV RS

3,617,215

2,299,562

526,504

3,000,711
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dHEE= A AHE=sX
T - ME BSNY IH(SYHRSSL/LY - UE)
NYAS 258 2E (el 29)
= - — N L=
2. 2A - FH . ER(ED) - NRAY - BES e Rz
= 572,297
Al 745,356
01 QIZIGEE X 3,617,215 526,504 3,090,711
OZLRI137 7] 3,270,290,000& * 14 3,270,290
= ,106,828
< 526,039
Al 637,423
O=g X232l 346,925,000& * 14 346,925
= 192,734
= 46,258
Al 107,933
£ RI|(ZZARIDIRD]) 450,248 2,144,414 1,305,834
2 498,453
L= 480,539
Al 471,256
101 eIl ,913,800 1,814,922 1,098,878
= ,138,280
< 427,656
Al 347,864
10 JIZtNI22 1 sSE =+ 2,913,800 1,814,922 1,098,878
O334HEIHRD| 2,099,340,000& = 14 ,099,340
= 1,649,604
= 329,921
Al 119,815
OLEIHIOIQA +EEE
763,901,000& * 14! 763,901
2 458,341
< 91,668
Al 213,892
OZTARIIRI| MBEAIE
50,559,000& * 14 50,559
= 30,335
< 6,067
Al 14,157
301 LEE A= 95,760 38,160 57,600
= 95,760
10 A2 HIZ2 &S 95,760 38,160 57,600
O3 34 IH0] 74,160,0002 * 14! 74,160
= 74,160
OAB0I2A >EER
21,600,000& * 14 21,600
= 21,600
401 A&HIZ =20 415,355 286,332 129,023
=2 249,213
< 49,843
Al 116,299
03 AIE20H8I 415,355 286,332 129,023
O334HEIHRD| 320,697,000& * 1A 320,697
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a=: ZHASE= FA S-S
HE: B ME YSHE TH(STHSSM/YY - HE)
el AEAS 2R EF (S d 3
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
= 192,418
= 38,484
Al 89,795
OLHEHI0IQ0A =& E
94,658,000& * 14| 94,658
= 56,795
= 11,359
Al 26,504
405 KhakH =4 25,333 0 25,333
= 15,200
= 3,040
Al 7,093
01 T ESFH S 25,333 0 25,333
OQHBIOI 200 A (B 7))
25,333,000 * 14 25,333
= 15,200
< 3,040
Al 7,093
MSMHIASE 54,950 28,229 26,721
2 32,969
& 6,595
Al 15,386
101 el244| 52,075 25,287 26,788
2 31,054
= 6,307
Al 14,714
10 JIZtH22NHSE=> 52,075 25,287 26,788
Oz=Z ZAH 39,147,000& » 14 39,147
= 23,338
< 4,743
Al 11,066
OSatotLel 12,928,000 = 14 12,928
= 7,716
= 1,564
Al 3,648
206 =4 800 566 234
= 480
= 96
Al 224
01 MZ4l 800 566 234
O=Z XA 600,000 * 14 600
= 360
= 7?2
Al 168
OSaterLel 200,000 * 14] 200
= 120
= 24
Al 56




A2 FRTER S ARSI
HE: B ME YSHE TH(STHSSM/YY - HE)
el AEAS 2R EF (S d 3
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
301 eet2a=s 2,075 2,196 2121
2 1,435
= 192
Al 448
10 YAIMHIE2 &= 2,075 2,096 n21
Os=Z ZAH 1,200,000& = 14 1,200
= 720
= 144
Al 336
OSatotLel 400,000& * 14] 400
= 240
S 48
Al 12
O=ZZAHY NS 375,000& » 14 375
= 375
OSAHHRl nEE e 100,000 * 14| 100
= 100
YASMAMCRIES 81,140 127,810 46,670
= 47,160
= 10,194
Al 23,786
402 212t X201 81,140 127,810 A\46,670
= 47,160
& 10,194
Al 23,786
01 eIt A=Ex 81,140 127,810 A\46,670
Ohti=st A 41,600,002 * 1Al 41,600
= 20,800
= 6,240
Al 14,560
OS0[ &t T] 39,540,000 * 14| 39,540
= 26,360
& 3,954
Al 9,226
UERSIHSAINA 700,000 0 700,000
= 500,000
= 60,000
Al 140,000
402 22tGHE0IE 700,000 0 700,000
= 500,000
= 60,000
Al 140,000
01 QA= E X 700,000 0 700,000
OSSR SHH
700,000,000& * 14 700,000
= 500,000
= 60,000
Al 140,000




Al o & SEE
- _ — Pl
2. 24 FB.O(3D) - HRAY - BAS St HlmE2

SHHEASE 305,867 0 305,867
= 91,760
< 64,232
Al 149,875

401 Al&HIZL S| 305,867 0 305,867
= 91,760
= 64,232
Al 149,875

01 Al&Hl 255,867 0 255,867
OS&=Z Y| & 50,000,000 * 14! 50,000
= 15,000
L= 10,500
Al 24,500
Osat=23H| 205,867,000& * 14! 205,867
= 61,760
= 43,232
Al 100,875

02 Zeldl 50,000 0 50,000
Ostt=3Hl & 50,000,000 * 14! 50,000
= 15,000
< 10,500
Al 24,500

sy B 200,000 0 200,000
s 100,000
= 30,000
Al 70,000

401 ASHIL 2] 200,000 0 200,000
s 100,000
= 30,000
Al 70,000

01 Al&dl 200,000 0 200,000
ONAZLHEL 200,000,000& * 14! 200,000
s 100,000
< 30,000
Al 70,000

tEsd 54 12,500 15,000 A2,500
= 3,750
Al 8,750

402 QU2HXE0IA 12,500 15,000 22,500
& 3,750
Al 8,750

01 2I2tEEx 12,500 15,000 22,500
Otte=sd 12,500,000& * 14 12,500
& 3,750
Al 8,750

AMSKCIHEANSE 30,000 0 30,000
= 9,000
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a=: ZHASE= FA S-S
HE: B ME YSHE TH(STHSSM/YY - HE)
ol AEIAS 258 HE (=E R L
.24 HB - G9(S) - ARAY - BES ofl &t e HIDE2
Al 21,000
207 AN 30,000 0 30,000
= 9,000
Al 21,000
01 A=Y 30,000 0 30,000
Ogd=NelHEA S5 30,000,0008 * 14| 30,000
= 9,000
Al 21,000
doisse =9 113,366 45,450 67,916
101 Q124 38, 166 10,150 28,016
10 JIZH2Z2XNSEs 38, 166 10,150 28,016
OgdiAida=E Ald=2c 23,306
SPlE== 40,6002 * 2 * 230 18,676
oFFrg 40,6002 * 28 * 46 3,736
ot Xt 40,6003 * 2& » 11 894
Ogailtidsee S22 29 14,860
S 40,6002 = 1 * 230 9,338
oFFrg 40,6002 = 18 = 46 1,868
odHXt=E 40,6002 = 18 » 11 447
oAlZtelg
6,680 * 18 » 202 * 24A|2¢ 3,207
201 Ypr2 | 47,200 27,300 19,900
01 AR 2t2Ibl 20,300 2,000 18,300
Oge==2H| 2,000
oftE - 8= NH 2,000,000& = 14 2,000
Oo2g=¢ 18,300
ol tHFAE LAY
50,0003 * 90 * 12! 4,500
cYoHAHFLE =AY
50,000& = 276 = 1€l 13,800
02 33234l 26,900 25,300 1,600
O83a2= % MAl 24,400
ocMI|BAs=E 300,000& * 122 3,600
odoX - BhrHE 200,000 * 23] 400
odIl= 1,200,000& = 12 14,400
of - ol 500,000& * 12& 6,000
OAlE EHIR AIHI 2,500
o UMNAFAEH AlERAIL
2,500,000& = 14| 2,500
206 =4 8,000 8,000 0
01 MZ4l 8,000 8,000 0
OFde 2SS 2,000,000& = 14 2,000
OF<d &3+ 2Adblz 10,0003 * 100% 1,000
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A= FHES S AR =R
HE: AN - ME) YSANE EL(SYHSSA/AY - ME)
&l MEHAS 2aD|E 2E (&2 & &)
_ - PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
Os2d IIZX4E 327
5,000,000& » 14! 5,000
207 IR 20,000 0 20,000
02 HEDNEHI 20,000 0 20,000
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206 =4l 40,000 40,000
< 12,000
28,000
01 MHZ 4l 40,000 40,000
OdlE=A4 AlBIM7Y &t
40,000,000& * 14l 40,000
L= 12,000
| 28,000
SAE(2H) 60,000 60,000
= 30,000
Al 30,000
401 AlEHIZL 2] 60,000 60,000
= 30,000
Al 30,000
01 Al&tl 60,000 60,000
ONHZAIE(2H) 60,000,000 * 14 60,000
= 30,000
Al 30,000
SO 3= 31,000 0 31,000
A AHE S S 31,000 0 31,000
101 el24t| 25,000 0 25,000
10 JIZtHI22XsE = 25,000 0 25,000
Ol =& At=2tel 25,000,000 * 14 25,000
201 2pt23d] 3,000 3,000
01 AtR2teltl 3,000 3,000
OU=HstEEEs ZDEHAX
1,000,000& * 344 3,000
301 YetEas 3,000 3,000
12 JDIEt2 &3 3,000 3,000
OHHZ2SAHXIA
5,000& * 2J0A * 300 3,000
BHEBE(SHZEES /oY 1,120,280 23,496,720
28,800
230,000
57,000




BHAE= FA oAkt
HYSHBEE(BIES /oY)
HraHel R
= - — Al L=
RN BB BRI(E) - MRAY - BES ofl &t e HIDE2
S 62,540
Al 741,940
ety e 1,120,280 4,617,000 A3,496,720
= 28,800
[ 230,000
| 57,000
S 62,540
Al 741,940
sietotMe )l & g2 F3t 95,000 100,000 A5,000
= 28,500
Al 66,500
101 Q124 45,000 40,000 5,000
= 13,500
Al 31,500
10 JIZH2Z2XNSEs 45,000 40,000 5,000
Odferded] & 2385t
45,000,000 * 14| 45,000
= 13,500
Al 31,500
201 et 25,000 40,000 215,000
= 7,500
Al 17,500
01 AtR2teiH| 25,000 40,000 215,000
OdlieotMe ] & S E 35t
25,000,000 * 14 25,000
& 7,500
Al 17,500
402 212t X=201H 25,000 20,000 5,000
& 7,500
Al 17,500
02 QUIZtTHSHAISH 25,000 20,000 5,000
OdliettAgd] & S E5t
25,000,000 * 14| 25,000
= 7,500
Al 17,500
oretd Il 12,980 18,000 25,020
101 Q124 9,980 10,000 A20
10 JIZH2Z2XNSEs 9,980 10,000 A20
Odiatdilstd 24 9,980,000 * 14 9,980
201 LBty 3,000 8,000 25,000
01 AR 22| 3,000 8,000 25,000
Odererddyl Zdlext 500,000 » 6 3,000
eskal 200,000 1,000,000 A800,000
= 100,000
Al 100,000
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= JHEE= A ookt
U GLEADE(HADS/HY)
el gratR el (SH9l:&2)
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
401 Al&HIZL R0 200,000 1,000,000 800,000
s 100,000
Al 100,000
01 Al&HI 200,000 1,000,000 A800,000
OAl&H] 200,000,000& * 14! 200,000
s 100,000
Al 100,000
SHreHa 27,400 10,000 17,400
201 LEr23H| 4,000 0 4,000
01 AtR22lt| 4,000 0 4,000
OB+ E2+4E 400,0002 * 103 4,000
307 gI2told 20,000 10,000 10,000
05 2IZtRAES 20,000 10,000 10,000
OZ7=0U SEHALSHS & )
20,000,000 = 14! 20,000
401 Al&HIRH S0 3,400 0 3,400
01 Al&HI 3,400 0 3,400
OZR=08U A& HII= X
3,400,000& * 14! 3,400
LAY ZEtArd 163,000 0 163,000
s 130,000
Al 33,000
401 A&HIZ =20 163,000 0 163,000
s 130,000
Al 33,000
01 Al&dI 163,000 0 163,000
OAlI&HI 163,000,000& * 14! 163,000
s 130,000
Al 33,000
=AEHHelAlE K& 20,000 20,000 0
307 21201 20,000 20,000 0
02 QIZtBAE XL 20,000 20,000 0
O==&2H=HelAlg &8Iz X2
20,000,000 * 14l 20,000
SHLHDISE S 95,000 150,000 255,000
J| 57,000
< 11,400
Al 26,600
307 21201 95,000 150,000 255,000
Il 57,000
= 11,400
Al 26,600
05 BIZtRE= 95,000 150,000 255,000
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- _ — Pl
CEA L FE . OR(B) - ARAY - B S St BlRE2
Ol HIIZ =04 95,000,000 * 14! 95,000
J| 57,000
< 11,400
Al 26,600
MEDIFIIZAIE SNt X 10,000 0 10,000
402 QIHAE0IA 10,000 0 10,000
02 CIZHHRH AL I 10,000 0 10,000
OMHDISIIZAE St eHE X
10,000,000& 14 10,000
FAAAAE L2H=2 FH| 70,000 49,000 21,000
402 QI2HXH=0IH 70,000 49,000 21,000
01 gltt=Ex 70,000 49,000 21,000
OFHLAMANE =20 Y|
70,000,000 * 14! 70,000
A2 SEIAFLEY ABIALY 66,000 41,000 25,000
201 2Bt 16,000 41,000 225,000
01 AtR22lt| 16,000 41,000 225,000
OARR gxE4 Y 281 LR
00,0003 = 4CH = 8 16,000
401 A&BIZ =08 50,000 0 50,000
01 Al&tl 50,000 0 50,000
OARReEaEzd ¢ 28l
50,000,000 = 14! 50,000
EAMHSHE =4 33,300 50,000 A 16,700
< 10,000
Al 23,300
401 A&HIZL S0 33,300 50,000 16,700
L= 10,000
Al 23,300
01 Al&HI 33,300 50,000 A 16,700
OEAMIEHEESE 33,300,000 * 14! 33,300
< 10,000
Al 23,300
F2dE di+=S=AIE8EHI 250,000 140,000 110,000
402 BIZHRHE0|H 250,000 90,000 160,000
01 gitt=Ex 250,000 90,000 160,000
O=F=2de =3 A& EH|
250,000,000& * 14! 250,000
g 228N 57,600 0 57,600
= 28,800
= 8,640
Al 20,160
402 QU2HAE0IA 57,600 0 57,600
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= - — Al L=
2 2AH - B S9(3) - IRAY - BES e HIDE2
28,800
8,640
20,160
01 eIt =Ex 57,600 57,600
ONEE HERENSS 57,600,000& * 14| 57,600
28,800
8,640
20,160
== LMEH HI= 20,000 20,000
= 4,000
16,000
206 =4 20,000 20,000
= 4,000
16,000
01 MH=Hl 20,000 20,000
Odfded =FLMIHl HI=
20,000,000 * 14 20,000
= 4,000
16,000
AY2SFHI(SH=40) (D1EHIIEH 28,681 16,782
el 2| 4,200 0
el 2| 4,200 0
203 g4 4,200 0
04 FAE2IYERFAH 4,200 0
OFNESHIFAYI 4,200,0002 * 14| 4,200
234l 24,481 NG, 782
J122ZH 24,481 A6,782
201 Ler2 | 17,211 148
01 AtR2teiHl 17,211 148
O=sgl 7,000& * 108 = 102/ 102 7,000
OLREENFHI 15,0008 * 65 = 12& 1,080
OARIPII A2 HY 4,000,000& * 14 4,000
OdIMNRESHI 3,131,000& = 14 3,131
OJIEt==2H| 2,000,000 * 14| 2,000
202 OdHl 7,270 22,930
01 =0l 7,270 22,930
OJ)=2gd2+8 U 7,270,000 * 14 7,270
o datas X (sHala/afex4 - 01E) 1,475,942 1,475,942
25,000
330,701
1,120,241
HEX2&dst 1,475,942 1,475,942
= 25,000
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A= FRES S AT
A 010l MABS X (SEHYL/HY L - 0 E)
el ogXEgdst (S d &)
- _ - &4
AERE ZRE-ERI=CICE DR EINRE:RoE St HImE2
S 330,701
Al , 120,241
HEEsSHARALR2 645,900 645,900
= 193,770
Al 452,130
402 22tH=01H 645,900 645,900
= 193,770
Al 452,130
02 QUZHHSAIEH 645,900 645,900
OO QST KIROIA XX
645,900,000& * 14] 645,900
= 193,770
Al 452,130
CSHLAIIHHAIA 70,200 70,200
S 21,060
Al 49,140
402 22tXH=01H 70,200 70,200
= 21,060
Al 49,140
01 eIt E2x 70,200 70,200
O=dAIIHM X2 70,200,000 * 14| 70,200
= 21,060
Al 49,140
DESHLDE )| B832 5,000 5,000
308 NXIHHSOIH 5,000 5,000
08 JIEtRE= 5,000 5,000
ODED M4 cr)|p 332
5,000,000 * 14| 5,000
meAaAYI 57,600 57,600
= 19,200
Al 38,400
402 2I2tXH=0lH 57,600 57,600
= 19,200
Al 38,400
01 eIt =Ex 57,600 57,600
OREASLIANENEH 57,600,000& = 14 57,600
= 19,200
Al 38,400
CHEd 01D 50,000 50,000
fas 25,000
= 7,500
Al 17,500
402 2I2tX=01d 50,000 50,000
= 25,000
[ 7,500
Al 17,500




BHAE= FA oAkt
10l MAES XA (SHHYLA/ ALY - 0fF)
EPAR=E=g=o) (S d &)
= - — Al L=
2 2AH - B S9(3) - IRAY - BES e HIDE2
01 eIt =Ex 50,000 50,000
O2EHEALIIAIZAY  50,000,0008 * 14| 50,000
fas 25,000
= 7,500
Al 17,500
HE&H st 51,600 51,600
402 212t X201 51,600 51,600
01 QI2tA=2E X 51,600 51,600
O2E0ld 0SC/VHF P& EHIXIH
800,000 * 25CH 20,000
O280d &sI1 NEXH
1,840,000& = 10CH 18,400
Oxgold AnsSZEHEHIAE
2,640,000& = 504 13,200
O AALES 30,000 30,000
401 Al EHIL S 30,000 30,000
01 Al&Hl 30,000 30,000
OoHolg O REAE R4
30,000,000 * 14 30,000
LM AIE XA 192,000 192,000
401 AlZHIL LY 150,000 150,000
01 AlZHI 150,000 150,000
OgxE7 &EHA 100,000,000 * 14| 100,000
OZ=2g ¢ dhl 50,000,000 * 14 50,000
402 212t X=01d 42,000 42,000
01 QI2tA=E X 42,000 42,000
O48d8 sS40 MEAXE
37,000,000 * 14| 37,000
Ol I - 2= X
5,000,000& * 14 5,000
FOHHOH & S =AY B 9,000 9,000
201 LBty 9,000 9,000
01 AR 2tcIbl 9,000 9,000
OF YAl HHAE Xt 500,000 * 8CH 4,000
OSHHR HHALEHZA HES XL
500,000& * 103 5,000
Hudote et HHIZS X2 36,400 36,400
= 15,600
Al 20,800
402 2I2tX=01d 36,400 36,400
= 15,600
Al 20,800
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= - — Al L=
2 2AH - B S9(3) - IRAY - BES e HIDE2
01 eIt =Ex 36,400 36,400
OO0l MO F BRI 22X 2

36,400,000& *14 36,400
< 15,600
Al 20,800

Hgd=XE2s 18,018 18,018
< 3,604
Al 14,414

201 &er=gHl 18,018 18,018
= 3,604
Al 14,414

01 AtR2t2|bl 18,018 18,018
O0gdE=ENES 18,018,000& * 14 18,018
= 3,604
Al 14,414

Yoy LA 12,000 12,000
= 4,500
Al 7,500

402 2I2tXH=0lH 12,000 12,000
= 4,500
Al 7,500

01 eIt =Ex 12,000 12,000
OFXYHY dgHe 12,000,000& * 14 12,000
= 4,500
Al 7,500

ogel olikis OIXtEd 64,840 64,840
= 19,452
Al 45,388

307 QI2H0|A 64,840 64,840
= 19,452
Al 45,388

08 OIX2H = 64,840 64,840
O0HAHOASO0IRIEZE 64,840,000 = 14 64,840
= 19,452
Al 45,388

HeR Moles - 282 X 153,384 153,384
< 46,015
Al 107,369

307 QI2HO|A 153,384 153,384
= 46,015
Al 107,369

06 28= 153,384 153,384

O0dd Mol2dES XA

153,384,000& 14 153,384
= 46,015
Al 107,369
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